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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |=iEENRT 93,101,593|LvbhETh 1,472,579\ LvbhETH 70,095,239
2 |LbhEH 66,595,584 | BB FR AR A& 44 BT 116,530) HR & AR 22 45 BT 21,752,347
3 |FEERIRET 19,562,257 &R LI 20,107 S EE BRI B BT 2,943,472
4 TR T AT 9,993,864 | M ZE &R I EF BT 19,693| KB EREAFOAT 708,578
5 IKREh 9,266,756 |18 B 9,980 &R LLITH 632,600
6 |HEEM 6,404,502 78 5 ;A ZR PR 4B A 7,400)2E5 Il 496,586
7 |BER B ET 5,107,400)2E & JII T 6,843|fHEH 435,352
8 |EBIlh 4270674|1fB & 6,136|tE2 & 282,339
9 |BiAh 2,751,789 KB ER BB FO+T 4924176 B A ER FE SR AT 204,496
10 |B#H 2,709,039|mtHE ™ 4,384){FEERE R AT 93,380
11 |fBeh 2,369,323|E% A 4,104|FtEE T 92,093
12 | DL EF AT 2,335,640| &2 E T 3,688|:Al; A AR =2 3R T ET 67,760
13 | =& 2,229,633| RS ARG A% IS A4 1,117\ & IERF )| BT 40,638
14 JZEE )T 1,996,914 AT ;3 BB =i 3R T HT 918| ER FR &R AL 1R R 4% 20,759
15 |78 B AR SR I AT 1,768,822 A ZE A48 SEHT 850|=2 AT 20,537
16 |FEHEET 1,589,304] F:E £ = 5 BT 520 M EE AR R /T AT 7,911
17 |F<EHR RE 1,417,194 3R B )11 BB 2% SR ET 443| KiBEB =2 < B HY 6,635
18 |fF:ZEH 999,545 1 B = & HET 255| 41 B = F BT 4,326
19 |48 & ER A Hu T 741,955\ & )I| 2B 1| BT 253) ;AT B EBAIN; 2 BT 2,954
20 | B JIIERE)IIET 651,312):AT ;7 EB4IN; 2 BT 195| == 2,871
21 | BB RET 535,830 M EEER R T HT 139)| =K #h 1,815
22 |Fa=iEEbr=iEHET 433,450 7 B AT &R < e ET 15| 5 ER = AR AT 1,636
23 | MEEER = R BT 428,201 |ERFRERAL I R A1 108| 3R B JI BB R SR ET 1,593
24 |E=B)I A= BT 318,095\ 11 &% 1 BT 82| T 1,339
25 |HRERERTE = iEHT 176,654) = EAEREE R BT 50| BB BB FE <= 2 BT 1,327
26 |Z=B)IERELRHET 175,824 BR % B 75 = 2 BT 27| BB ZE AT 732
27 |FEEBSEITHET 146,221| KiBER £ X B AT 19| B = AR S AR Ik 4 685
28 |E%ATH 143,415 8 I | ZB A BT 13| 28 B2 AT AR SR MR BT 232
29 |BIEBE)IF 118,089 B+ 10| 3 &)1 R4 = BT 182
30 |EFTER/NEFHET 83,136] — &t th 8| & JIIEBiX I ET 67
31 | #ER =2 IR THT 79,310) BAT T 6| BER &)1 4% 31
32 |7 & ;AR R R ET 55,405 AT ;B AR % )41 S EA=DIE: 5 27
33 |FEE AR B AT 54,650 F:EmH 2|18 B R AR EE AT 26
34 | BRARER A 46 ET 53,463| 3R B 1| BR {5 ET 2| B+ ER /N EF BT 3
35 |Fa=iEER T 4BET 42,203| 48 B ER AR EE AT 1|FEh 1
36 |A+TER=FHT 36,631 FB4F &R /N EF BT o|Fa = iZ R Fa = AT 0
37 | WEERRKBEET 35017 |mLEE R <IET O U ZEER I ZEHT 0
38 |BIJIERE)IIET 32,658 & )11 &R &y BR AT 0|7 B AT AR SR I A 0
39 |EEAREA 32,235| MEEER K REET O| 5 #E AR R K A% 0
40 |&B)IEBFEBF 15,356 |48 & BB Hh BT ol=mrh 0
41 | EEERRITET 9,979|mREE R RET O I Z= 2R = & BT 0
42 |FEEE RET 8,964 | R iR AR T 40T Of BR % &R %8 w5 X BT 0
43 LAl BEBHIEET 8,456 5 AR KT o|Fa=iE A R RET 0
44 |REBREHN 71810 REBKREH O| XA &R LLET 0
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163 X ETHT £ (10°m%/ %) X BT+ 4 (10°L/4F) X ETH £ (10°L/%E)
45 |=B)IIEBISET 6,980 R X &R %& 5 X BT ojlx=EH 0
46 | KBE =EEEHT 4,480 {FE BB ITET O|#8 55 &R & tth BT 0
47 |ERRRERFE R X ET 4,285\ KB ER & LLIET o7 B A ER b &4 0
48 LA BERS ) 2,586 M EE AR = [ ET O| A= AR I HT 0
49 | EEEBHE ZERT 1,900 & JII B E )11+t O I ZEER K HERT 0
50 |MEEEBINZERT 1,615 FUZE AR A ZEHT o|& N EBF B+ 0
51 |BRRFFERALIE R AT 1,235) A )11 2R < E 1 o Fa = iZ &1 T 4B ET 0
52 |+ EEBEREEAT 1,002]78 5 AT EB o &4 O|REB AR EH 0
53 | KRBERRZFIAT 897|4REER) IR HET o & )11 &R & X BT 0
54 | K;BERE ILIET 489|KETH o) A= &R 1R BT 0
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